EYLE

Products

Daewoo
G0

Spare parts for passenger cars




Body/Cabin

Body - Interior fittings

Brakes

Disc brake « Drum brake « Hydraulics

Drive train/Transmission

Joints

Electrics
Engine - Lighting

Engine/Cooling/Clutch

Belt drive / Engine control « Cooling system « Fuel system
Lubrication system

Steering

Tie rod assemblies

Suspension

Control arms - Stabilizer - Suspension / damping
Wheel hubs / Wheel bearings

Index MEYLE no. — Ref. no.

Index Ref. no. — MEYLE no.



Contents

MEYLE

Products

Body/Cabin 1 E

Body, Interior fittings

Cabin air filter Wiper Blade
Trunk-/tailgate shock

Brakes 8
Disc brake, Drum brake, Hydraulics

Brake disc Brake pad set Guide bolt, brake caliper

Brake drum Brake shoe kit Guide sleeve kit, brake caliper

Brake hose Brake shoe set, parking brake Wheel cylinder

Drive train/Transmission 21
Joints

C.V.joint kit

Electrics 25
Engine, Lighting

Back up light switch Ignition coil Sensor, camshaft position

Crank position sensor Intake air, temperature sensor Sensor, intake manifold pressure

Glow plug Lambda probe Spark plug connector
Engine/Cooling/Clutch 29
Belt drive / Engine control, Cooling system, Fuel system, Lubrication system

Air filter Oil filter Timing belt roller

Belt tensioner QOil pressure switch Water pump

Fuel filter Thermostat

Steering 42

Tie rod assemblies

Axial rod Tie rod end
Bolt, wheel alignment

Suspension 48
Control arms, Stabilizer, Suspension / damping, Wheel hubs / Wheel bearings

Ball joint Mount, control arm Wheel bearing kit

Control arm Repair kit, stabilizer link Wheel hub

Control arm bushing Shock absorber

Dust cover kit, shock absorber Stabilizer link

1197 Wulf Gaertner Autoparts AG - www.meyle.com






Daewoo

M EYLE’
Products Body/Cabin

29-40910 0005

Trunk-/tailgate shock
96394240 1
Notes
Power Output F [N] 700
Length [mm] 388
References
96310381 96940087
96394240

Application info
Rezzo (09/00--)

29-40910 0003

Trunk-/tailgate shock
96507773

Notes

Power Output F [N] 300
Length [mm] 495

References

96314606 96557539
96507773 96563503
96518910 96598008

Application info
Matiz (08/98--)

29-40 910 0006

Trunk-/tailgate shock 96540939

Notes

Power Output F [N] 350
Length [mm] 388

References
96540939

Application info
Kalos (09/02--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 1



Daewoo

Body/Cabin

M

EYLE’

Prroducts

29-40910 0007

96548931

Application info
Lacetti (04/97--)

29-40 910 0001

96557530

Application info
Nubira (KLAJ) (04/97--)

029 400 1600

Application info
Kalos (09/02--)

Trunk-/tailgate shock
Notes

Power Output F [N] 560
Length [mm] 462
References

96548931

Trunk-/tailgate shock
Notes

Power Output F [N] 290
Length [mm] 324
References

96298318 96557530

Nubira (KLAN) (07/03--)

Wiper Blade
Notes

Front
Length [mm] 400
Length [in] 16

Observe service information

Matiz (08/98--)

Wulf Gaertner Autoparts AG - www.meyle.com 1197



% |M I Daewoo
Products Body/Cabin

Wiper Blade 029450 1800

Notes ’ ' ‘:

Front
Length [mm] 450 , 0
Length [in] 18
Observe service information

Application info

Korando (01/99--) Nexia (02/95-03/01)
Musso (07/98--)

Wiper Blade 029475 1900

Notes ’ ’
Front ’ ’

Length [mm] 475 , ‘

Length [in] 19

Observe service information

Application info

Espero (10/91-09/99) Leganza (06/97-04/04)
Lacetti (04/97--) Rezzo (09/00--)
Lanos (05/97--)

Wiper Blade 029 500 2000
Notes L
Front .’ : ’
rani” ,
Obs%f’ve service information , ’ ’

e

1197 Wulf Gaertner Autoparts AG - www.meyle.com 3



Daewoo

Body/Cabin

COM

EYLE’

Prroducts

029 500 2000

Application info
Musso (07/98--)

029 530 2100

Application info
Matiz (08/98-)

029 550 2200

Application info

Kalos (09/02--)
Lacetti (04/97--)

Wiper Blade

Nubira (KLAJ) (04/97--)

Wiper Blade

Notes

Length [mm]
Length [in]
Observe service information

Wiper Blade

Notes

Length [mm]
Length [in]
Observe service information

Leganza (06/97-04/04)

Front
530
21

Front
550
22

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

Body/Cabin

Wiper Blade

Notes

Length [mm]
Length [in]
Observe service information

Application info
Rezzo (09/00--)

Cabin air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References

93740495
96331028

Application info
Rezzo (09/00--)

Cabin air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
96190645

Application info
Lanos (05/97--)

Front
600
24

Particulate Filter
Filter Insert

283

103

21

Kit

EC96331028

Particulate Filter
Filter Insert

215

187

25

EC96190645

1197 Wulf Gaertner Autoparts AG - www.meyle.com

22

029 600 2400

-

29-12319 0009/S

93740495

29-12 319 0003

96190645

Nubira (KLAJ) (04/97--)



Daewoo |M —_—
Body/Cabin Products

29-12319 0001 Cabin air filter

1 96207422
Notes
Particulate Filter
Filter Insert
Length [mm] 260
Width [mm] 200
Height [mm] 25
References
96207420 96207423
96207422
Application info
Leganza (06/97-04/04) Nubira (KLAJ) (04/97--)

29-12319 0010 Cabin air filter

96296618
Notes
Particulate Filter
Filter Insert
Length [mm] 297
Width 1 [mm] 174
Length 1 [mm] 287
Width [mm] 184
Height [mm] 30
References
96296618 EC96327366
96327366

Application info
Evanda / Magnus (07/99--)

29-12 319 0005 Cabin air filter

96425700

Notes
Particulate Filter
Filter Insert

Length [mm] 210

Width [mm] 205

Height [mm] 10

References

96425700 EC96425700

Application info
Matiz (08/98-)

6 Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Daewoo

Body/Cabin

Cabin air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References

96449577
96539649

Application info
Kalos (09/02--)

Cabin air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
96554378

Application info
Lacetti (04/97--)

Cabin air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
96555003

Application info
Matiz (08/98--)

Particulate Filter
Filter Insert

230

200

20

96962173
EC96539649

Particulate Filter
Filter Insert
227.5

210

25

EC96554378

Particulate Filter
Filter Insert

167

116

36

1197 Wulf Gaertner Autoparts AG - www.meyle.com

29-12 319 0000
96539649

29-12 319 0007

96554378

Nubira (KLAN) (07/03-)

29-12 319 0006

96555003




Daewoo

Brakes

38-15 523 0001

48401-05101

Application info

Korando (01/99--)
Musso (07/98--)

615521 6001

96179110

Application info

Espero (10/91-09/99)
Lanos (05/97--)

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

Outer Diameter [mm)]
Minimum Thickness [mm]
Centering Diameter [mm]

References
48401-05101

Rexton (04/02--)

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

Outer Diameter [mm]
Minimum Thickness [mm]
Centering Diameter [mm]

References
96179110

Nexia (02/95-03/01)

MeEeYLE

Prroducts

Rear Axle
6

10,4
139.5
67.6

299

8.5

105.6
Solid

48401-05110

Front Axle
4

24,0

100

41

256

21

60
Vented

Wulf Gaertner Autoparts AG - www.meyle.com 1197



M

EYLE’

Prroducts

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

QOuter Diameter [mm]
Minimum Thickness [mm]
Centering Diameter [mm]

References
96218420

Application info
Leganza (06/97-04/04)

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

Quter Diameter [mm]
Minimum Thickness [mm]
Centering Diameter [mm]

References
96284392

Application info
Matiz (08/98--)

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

QOuter Diameter [mm]
Minimum Thickness [mm]
Centering Diameter [mm]

References
96286933

Front Axle
5

24,0

114

46.8

256

224

60.1
Vented

96238673

Front Axle
4

12,6

102

35.5

236

9.7

86

Solid

96320531

Front Axle
4

24,0

100

471

256

22

60

Vented

96312559

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Daewoo

Brakes

29-15 521 0004

96238673

29-15 521 0001

96284392

29-15 521 0000

96312559




Daewoo

Brakes

10

29-15 521 0000

96312559

Application info
Nubira (KLAJ) (04/97--)

29-15 521 0007

96328338

Application info
Evanda / Magnus (07/99--)

29-15 523 0003

96389659

Application info
Evanda / Magnus (07/99--)

Brake disc

Nubira (KLAN) (07/03--)

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

Outer Diameter [mm]
Minimum Thickness [mm]
Centering Diameter [mm]

References
96264591

Rezzo (09/00--)

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

Outer Diameter [mm]
Minimum Thickness [mm]
Centering Diameter [mm]

References
96389659

MeYLE

Prroducts

Front Axle
4

24,0

114.3
47.5

256

22

60

Vented

96328338

Rear Axle
4

12,0
114.3

58

257.9

10

60

Solid

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

MeYLE

Products Efriil((!S

29-15 523 0002

Brake disc
96549630
Notes
Rear Axle
Number of Holes 4
Brake Disc Thickness [mm] 10,5
Bolt Hole Circle @ [mm] 114.3
Height [mm] 58
QOuter Diameter [mm] 258 2
Minimum Thickness [mm] 8
Centering Diameter [mm] 59.5
Solid
References
96549630
Application info
Lacetti (04/97--) Nubira (KLAN) (07/03--)
. 29-15 521 0005
Brake disc
96549782
Notes
Front Axle
Number of Holes 4
Brake Disc Thickness [mm] 24,0
Bolt Hole Circle @ [mm] 114.3
Height [mm] 47.4
Quter Diameter [mm] 256
Minimum Thickness [mm] 22
Centering Diameter [mm] 60
Vented
References
96549782

Application info

Lacetti (04/97--) Nubira (KLAN) (07/03--)
Nubira (KLAJ) (04/97--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 11



Daewoo

Brakes

12

29-15 521 0006
96574633

Application info

Kalos (09/02--)
Lanos (05/97--)

0252054716

11046948372

Application info

Lanos (05/97--)
Nexia (02/95-03/01)

025 205 4716/PD

11046948372

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

Outer Diameter [mm)]
Minimum Thickness [mm]
Centering Diameter [mm]

References
90121445

Nexia (02/95-03/01)

Brake pad set

Notes

Brake System
Width [mm]
Height 1 [mm]
Height 2 [mm]
Thickness [mm]

References
11046948322

Racer / Lemans (09/90-07/95)

Brake pad set

Notes

Brake System
Width [mm]
Height 1 [mm]
Height 2 [mm]
Thickness [mm]

References
11046948322

MeEeYLE

Prroducts

Front Axle
4

20,0

100

42

236

17

60

Vented

96574633

Front Axle

with anti-squeak plate

ATE

140.1

57.9

48.2

16.7

prepared for wear indicator

11046948372

Front Axle

with anti-squeak plate

ATE

140.1

57.9

48.2

16.7

prepared for wear indicator

11046948372

Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Brake pad set

Application info

Lanos (05/97--)
Nexia (02/95-03/01)

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References

96245178
96253367
96253382
96391891

Application info
Evanda / Magnus (07/99--)
Lacetti (04/97--)

Lanos (05/97--)

Leganza (06/97-04/04)

Brake pad set

Notes

Brake System
Width [mm]
Height [mm]
Thickness [mm]

References

96245179
96253368

Application info
Korando (01/99--)
Leganza (06/97-04/04)
Musso (07/98--)

Front Axle

with anti-squeak plate
Akebono

2

143.2

514

16.9

with acoustic wear warning

96405129
96446742
96495227
54510019

Rear Axle

with anti-squeak plate
Lucas Girling

114

549

14.5

not prepared for wear indicator

54521001

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Daewoo
Brakes

025 205 4716/PD

11046948372

Racer / Lemans (09/90-07/95)

025 232 3417/W

96245178

2X

=

WXﬂ
=

Nubira (KLAJ) (04/97--)
Nubira (KLAN) (07/03--)
Rezzo (09/00--)

025 2323714
96253368
(T [ 1]
==
Nubira (KLAJ) (04/97--)
Nubira (KLAN) (07/03--)

13

2



2

Daewoo
Brakes

025 2324117

96316582

Application info
Lanos (05/97--)

025 232 4117/PD

96316582

L X

-

Application info
Lanos (05/97--)

0252407114
96405131

L

Application info

Lacetti (04/97--)
Nubira (KLAJ) (04/97--)

14

Brake pad set

Notes

Brake System
Width [mm]
Height [mm]
Thickness [mm]

References
96316582

Matiz (08/98--)

Brake pad set

Notes

Brake System
Width [mm]
Height [mm]
Thickness [mm]

References
96316582

Matiz (08/98--)

Brake pad set

Notes

Brake System
Width [mm]
Height [mm]
Thickness [mm]

References
96405131

Nubira (KLAN) (07/03--)

MeEeYLE

Prroducts

Front Axle

with anti-squeak plate
Akebono

127

48.2

16.4

not prepared for wear indicator

Front Axle

with anti-squeak plate
Akebono

127

48.2

16.4

not prepared for wear indicator

Rear Axle

with anti-squeak plate
Sumitomo

104.6

38.9

14.6

excl. wear warning contact

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo
Brakes

MeEeYLE

Products

025 239 7417
Brake pad set
96534653
Notes
Front Axle
with anti-squeak plate
Brake System Akebono
Width [mm] 133
Height [mm] 48.9
Thickness [mm] 17.8 2
excl. wear warning contact
References 7 ™ 7]

96534653 | N ]

Application info

Kalos (09/02--)
025218 6217
Brake pad set
Notes
Front Axle
with anti-squeak plate
Brake System ATE
Width [mm] 156.3
Height [mm] 52.2
Thickness [mm] 17.6
prepared for wear indicator M
References = ( ) -
[ ]
11046152 96281939
11046952012 —~ -
Application info
Espero (10/91-09/99) Nexia (02/95-03/01)
. . 100 698 0008
Guide bolt, brake caliper
11817100081
Notes
Front Axle
Brake System ATE
Alternative Repair Kit 014 698 0006/S
References
11817100081
Application info
Lanos (05/97--) Nexia (02/95-03/01)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 15



Daewoo |M EYLE®

Brakes Prroducts

014 698 0006 Guide sleeve kit, brake caliper
11010154072

Notes

Front Axle
Brake System ATE
. without guide bolts
2 References
11010154072

Application info

Espero (10/91-09/99) Nexia (02/95-03/01)
Lanos (05/97--)

014 698 0006/S . . .
Guide sleeve kit, brake caliper
11010154072
Notes
Front Axle
Brake System ATE
with guide pin
' References
11010154072
. . Parts list
014 698 0006 Guide sleeve kit, brake caliper
Application info
Espero (10/91-09/99) Nexia (02/95-03/01)
Lanos (05/97--)
615523 6002
Brake drum
96175281
Notes
Rear Axle
Number of Holes 4
Inner Br. Drum Diam. [mm] 200
Br. Drum outer diameter [mm] 242
Max.skimmed drum measure
[mm] 201
Bolt Hole Circle @ [mm] 100
Total Br. Drum Height [mm] 67
Inner Brake Drum Height [mm] 53
Centering Diameter [mm] 57
References
96175281

16 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

MeYLE
Brake drum 615 523 6002
96175281

Application info

Espero (10/91-09/99) Nexia (02/95-03/01)
Lacetti (04/97--) Nubira (KLAJ) (04/97--)
Lanos (05/97--) Nubira (KLAN) (07/03--)
29-15 523 0005
Brake drum
96316636
Notes
Rear Axle
Number of Holes 4
Inner Br. Drum Diam. [mm] 180
Br. Drum outer diameter [mm] 205.5
Max.skimmed drum measure
[mm] 182
Bolt Hole Circle @ [mm] 114.3
Total Br. Drum Height [mm] 79.5
Inner Brake Drum Height [mm] 40
Centering Diameter [mm] 69
References
96316636
Application info
Matiz (08/98--)
Brake drum
96386901
Notes
Rear Axle
Number of Holes 4
with ABS sensor ring
with wheel bearing
Inner Br. Drum Diam. [mm] 200
Br. Drum outer diameter [mm] 230
Max.skimmed drum measure
[mm] 201
Bolt Hole Circle @ [mm] 100
Total Br. Drum Height [mm] 56.9
Inner Brake Drum Height [mm] 40.5
Centering Diameter [mm] 57
References
96386901 96471783
96471276 96473233
96471279

Application info
Kalos (09/02--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 17



D

aeéwoo

Brakes

18

29-14 533 0007
48330-05000

Application info
Korando (01/99--)

29-14 533 0001

93740252

Application info
Kalos (09/02--)

29-14 533 0026/K

93740252

Application info
Kalos (09/02--)

MeYLE

Prroducts

Brake shoe kit
Notes

Rear Axle
Width [mm] 56
Diameter [mm] 254

without spring
References

48330-05000

Musso (07/98--)
Brake shoe kit
Notes
Rear Axle
Width [mm] 36.3
Diameter [mm] 200
with lever
without spring
References
93740251 S4520007
93740252 S$4520008
Brake shoe kit
Notes
Rear Axle
Width [mm] 36.3
Diameter [mm] 200
Pre-assembled
with lever
with accessories
without wheel brake cylinder
References
93740251 S4520007
93740252 S$4520008

Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeYLE

Prroducts

Brake shoe kit

Notes

Width [mm]
Diameter [mm]

References
96268686

Application info
Matiz (08/98--)

Brake shoe kit

Notes

Width [mm]
Diameter [mm]

References

96319066
96349066

Application info
Rezzo (09/00--)

Brake shoe kit

Notes

Width [mm]
Diameter [mm]

References

96430417
NP1441
NP1464

Application info
Espero (10/91-09/99)

Rear Axle

31

180

with lever
without spring

Rear Axle

50

230

with lever
without spring

96394977

Rear Axle

46

200

with lever
without spring

54520003
54520005
54520006

Daewoo

Brakes

29-14 533 0002

96268686

29-14 533 0004

96319066

614 042 1007

$4520006

Nexia (02/95-03/01)

Lacetti (04/97--) Nubira (KLAJ) (04/97--)
Lanos (05/97--) Nubira (KLAN) (07/03--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 19



Daewoo |M EYLE®

Brakes Prroducts

29-14 533 0008 Brake shoe set, parking brake

96496764
Notes
Rear Axle
Width [mm] 26
Diameter [mm] 170
with lever
2 without spring
References
96496764
Application info
Lacetti (04/97--) Nubira (KLAN) (07/03--)
29-14 525 0001
Brake hose
96534545
Notes
Front Axle left and right
Required quantity 2
Length [mm] 357
Port Type Banjo fitting
Inner Thread 1 [mm] M10x1
References
96534545
Application info
Kalos (09/02--)
614 055 0004 .
Wheel cylinder
90235422 y
Notes
Rear Axle
Brake System Lucas
Diameter [mm] 19.05
Grey Cast Iron
References
90235422

Application info

Espero (10/91-09/99) Nexia (02/95-03/01)
Lanos (05/97--)

20 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

Drive train/Transmission

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Seal Diameter [mm]

References

26013813
510734

Application info
Nexia (02/95-03/01)

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Seal Diameter [mm]

Number of Teeth, ABS ring

References

96183138
96183139

Application info
Lanos (05/97--)

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Seal Diameter [mm]

References

510736
96243573

Wheel Side

without ABS ring
CV Joint

513315

Wheel Side

52

with ABS ring
47

CV Joint

96225969
96225970

Wheel Side

without ABS ring
CV Joint

96257802

1197 Wulf Gaertner Autoparts AG - www.meyle.com

29-14 498 0001
26013813

29-14 498 0006
96225970

29-14 498 0000
96257802

21



Daewoo

Drive train/Transmission

22

29-14 498 0000
96257802

Application info

Espero (10/91-09/99)
Lanos (05/97--)

29-14 498 0008
96257804

Application info
Lanos (05/97--)

29-14 498 0007
96273760

Application info
Nubira (KLAN) (07/03--)

C.V. joint kit

Nubira (KLAJ) (04/97--)

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Seal Diameter [mm]

References
96257804

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Seal Diameter [mm]

Number of Teeth, ABS ring

References
96273760

MeEeYLE

Products

Wheel Side

52
without ABS ring
CV Joint

96474834

Wheel Side

with ABS ring
47
CV Joint

Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Daewoo

Drive train/Transmission

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Seal Diameter [mm]

Number of Teeth, ABS ring

References
96348782

Application info
Kalos (09/02--)

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Seal Diameter [mm]

Number of Teeth, ABS ring

References

96348790
96348791

Application info
Kalos (09/02--)

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Seal Diameter [mm]

Number of Teeth, ABS ring

References
96273571

Wheel Side

with ABS ring
47
CV Joint

96391555

Wheel Side
22

22

150

52

with ABS ring
47

CV Joint

96391551

Wheel Side
23

19

148.5

46

with ABS ring
40

CV Joint

96564144

1197 Wulf Gaertner Autoparts AG - www.meyle.com

29-14 498 0004
96348782

29-14 498 0005

96348790

29-14 498 0003

96564144

23



Daewoo |M —_—
Drive train/Transmission Products

29-14 498 0003 C.V. joint kit

96564144

Application info
Matiz (08/98--)

24 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

Electrics

Crank position sensor

Notes
Resistance [Ohm]

Number of Poles
Operating Voltage
Fitting Depth [mm]

References
0031537328

Application info
Korando (01/99--)

Glow plug

Notes

Voltage [V]

Port Type

Fitting Depth [mm]
Cone Pitch

Overall Length [mm]
Thread Size
Diameter [mm]
Spanner Size

Rated current [A]

References
0011590001

Application info
Korando (01/99--)

Ignition coil

Notes

Required quantity
Required quantity
Number of Poles
Operating Voltage

only in connection with

Resistance [kOhm)]

References
1587503

1100

without cable

2

12

40

Inductive Sensor

0031537528

M12x1,25

6.1

12

Pencil-type Glow Plug
after-glow capable

16

for vehicles without distributor
2

3

2

12

014862 0001

Coupling Type SAE

without spark plug connector
7.5

for fully electronic ignition (FI)

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Musso (07/98--)

Musso (07/98--)

014899 0013
0031537528

014 020 1041
0011590001

014 158 0000

1587503

25

4



Daewoo
Electrics

26

014 158 0000

1587503

Application info
Korando (01/99--)

614 885 0008

88921374

Application info

Lanos (05/97--)
Leganza (06/97-04/04)

514 899 0002

96183228

Application info

Evanda / Magnus (07/99--)
Kalos (09/02--)

Lacetti (04/97--)

Lanos (05/97--)

MeYLE

Prroducts

Ignition coil

Musso (07/98--)
Ignition coil
Notes
for vehicles without distributor
Required quantity 1
Number of Poles 4
Operating Voltage 12
Coupling Type Saw Tooth
for fully electronic ignition (FI)
References
88921374 96350585

Nubira (KLAJ) (04/97--)

Intake air, temperature sensor

Notes

without cable
Number of Poles 2
Diameter [mm] 20

Black
References
96183228 96417820

Leganza (06/97-04/04)

Nubira (KLAJ) (04/97--)
Nubira (KLAN) (07/03--)
Rezzo (09/00--)

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

®
MiE>LE
oI Electrics
Lambda probe 614 950 0000
96335925
Notes
Unheated
Regulating Probe
References
96335925

Application info
Espero (10/91-09/99) Nexia (02/95-03/01)

0148990000 4

Sensor, camshaft position
0021539528

Notes
Resistance [Ohm] 1100
without cable
Number of Poles 1
Operating Voltage 12
Fitting Depth [mm] 24
Inductive Sensor
References
0021539528

Application info
Korando (01/99--) Musso (07/98--)

. . 614899 0017
Sensor, intake manifold pressure
16137039
Notes
without cable
Number of Poles 3
Operating Voltage 12
Pressure from [bar] 0.02
Pressure to [bar] 0.1
Piezoelectric Sensor
References
16137039

Application info
Lanos (05/97--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 27



Daewoo

Electrics

28

614 899 0020

16212460

Application info

Leganza (06/97-04/04)
Nubira (KLAJ) (04/97--)

014 862 0001

1587503

Application info
Korando (01/99--)

614 123 0001

96192077

Application info

Espero (10/91-09/99)
Lanos (05/97--)

MeEeYLE

Prroducts

Sensor, intake manifold pressure

Notes
without cable
Number of Poles 3
Operating Voltage 12
Pressure from [bar] 0.2

Pressure to [bar]

References
16212460

Rezzo (09/00--)

1
Piezoelectric Sensor

Spark plug connector

Notes
Length [mm] 105
only in connection with 014 158 0000

Resistance [kOhm)]

References
1587503

Musso (07/98--)

Back up |

Notes

Coupling Type SAE
2

ight switch

Number of Poles 2

Thread Size

References
96192077

M12x1,5
Lock

Leganza (06/97-04/04)
Nexia (02/95-03/01)

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

Engine/Cooling/Clutch

614 020 0000

24412292

Belt tensioner

Notes

Height [mm] 26
Outer Diameter [mm] 70
Inner Diameter [mm] 17

References
24412292

Parts list
100 145 0003 Tension roller, ribbed belt

Application info

Evanda / Magnus (07/99--) Nubira (KLAJ) (04/97--)
Lacetti (04/97--) Nubira (KLAN) (07/03--)
Leganza (06/97-04/04) Rezzo (09/00--)

614 009 0002

Timing belt roller 90411782

Notes

Height [mm] 29.5
Outer Diameter [mm] 52.5
Inner Diameter [mm] 24

References
90411782

Application info

Leganza (06/97-04/04) Nubira (KLAJ) (04/97--)
29-28 228 0000
Therm
3 ostat 92062728
Notes
Opening Temperature [°C] 87
with seal
References
90411948 92062728

1197 Wulf Gaertner Autoparts AG - www.meyle.com 29



Daewoo IM EYLE®

Prroducts

Engine/Cooling/Clutch

29-28 228 0000

Thermostat
92062728
Application info
Espero (10/91-09/99) Nubira (KLAJ) (04/97--)
Evanda / Magnus (07/99--) Nubira (KLAN) (07/03--)
Leganza (06/97-04/04) Rezzo (09/00--)
613 600 0568 Water pump
90272361
Notes
Number of Teeth 21
with seal
for toothed belt drive
References
90220568 90272361
Application info
5 Espero (10/91-09/99)
613 600 4084
Water pum
90273924 ate pu p
Notes
Number of Teeth 21
with seal
for toothed belt drive
References
90106656 90284802
90273924

Application info
Espero (10/91-09/99)

30 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

% MeYLE
Products Engine/Cooling/Clutch

613 2200011
Water pump
9192370
Notes
Number of Teeth 25
with frost plugs
with seal
for toothed belt drive
References
90443549 9192370
90444311

Application info

Evanda / Magnus (07/99--) Nubira (KLAJ) (04/97--)
Leganza (06/97-04/04) Rezzo (09/00--)
29-13 351 0001
Water pum
g pu p 96351284
Notes
Number of Teeth 19
with seal 5
for toothed belt drive
References
94013802 96351971
96351284 96872700
Application info
Espero (10/91-09/99) Nexia (02/95-03/01)
Lanos (05/97--)
613 600 4098
Water pum
p p 96351969
Notes
Number of Teeth 19
with seal

for toothed belt drive

References
96351969

Application info
Nexia (02/95-03/01)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 31



Daewoo IM I
Engine/Cooling/Clutch Products

29-13 220 0000

Water pum
96666219 p p
Notes
Number of Teeth 22
with seal
for toothed belt drive
References
17400-50812 17400A-60D02
17400-60D01 96518977
17400-61810 96563958
17400-70B00 96666219
17400A-60D01 96666221

Application info

Kalos (09/02--) Tico (05/89-12/00)
Matiz (08/98--)

29-13 350 0001

Water pum
96872704 pump
Notes
Number of Teeth 19
5 with seal
for toothed belt drive
References
96350799 96872704
96352648
Application info
Kalos (09/02--) Lanos (05/97--)
29-13 182 0001
Water pump
96930074
Notes
Number of Teeth 19
with seal
for toothed belt drive
References
96182871 96872702
96352650 96930074

32 Wulf Gaertner Autoparts AG - www.meyle.com 1197



1197 Wulf Gaertner Autoparts AG - www.meyle.com

Water pump

Application info

Kalos (09/02--)
Lacetti (04/97--)
Nubira (KLAJ) (04/97--)

Air filter

Notes

Height [mm]
Quter Diameter [mm]
Inner Diameter [mm]

References

1378078B
1378078B00

Application info
Tico (05/89-12/00)

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
6020940204

Application info
Korando (01/99--)

Filter Insert
24

222

31

13780A78B00000

Filter Insert
379

170

50

Nubira (KLAN) (07/03--)
Rezzo (09/00--)

Daewoo

Engine/Cooling/Clutch

29-13 182 0001
96930074

29-12 321 0009

1378078B00

012094 0021
6020940204

Musso (07/98--)

33



Daewoo |M I
Engine/Cooling/Clutch Products

29-12 321 0008

Air filter
96181263
Notes
Filter Insert
Length [mm] 245
Width [mm] 203
Height [mm] 39
References
96181263
Application info
Nubira (KLAJ) (04/97--) Nubira (KLAN) (07/03--)
29-12 321 .
9-12 3210003 Air filter
96182220
Notes
Filter Insert
Length [mm] 213
5 Width [mm] 203
Height [mm] 40
References
96182220
Application info
Lanos (05/97--)
29-12 321 001 .
3210010 Air filter
96263897
Notes
Filter Insert
Length [mm] 271
Width [mm] 177
Height [mm] 483
References
96263897

Application info
Rezzo (09/00--)

34 Wulf Gaertner Autoparts AG - www.meyle.com 1197



M

EYLE’

Products

Daewoo

Engine/Cooling/Clutch

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
96314494

Application
Matiz (08/98--)

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
96328718

Application

info

info

Evanda / Magnus (07/99--)

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
96351225

Application

info

Leganza (06/97-04/04)

Filter Insert
201

189

35

Filter Insert
275

246

45

Filter Insert
256

223

35

1197 Wulf Gaertner Autoparts AG - www.meyle.com

29-12 321 0004

96314494

29-12 321 0011

96328718

29-12 321 0007

96351225

Nubira (KLAJ) (04/97--)

35



Daewoo |M I
Engine/Cooling/Clutch Products

29-12 321 0001

Air filter
96536696
Notes
Filter Insert
Length [mm] 224
Width [mm] 188
Height [mm] 46
References
96536696
Application info
Kalos (09/02--)
29-12 321 2 .
9-12 321000 Air filter
96553450
Notes
Filter Insert
Length [mm] 300
5 Width [mm] 220
Height [mm] 36.5
References
96553450
Application info
Lacetti (04/97-) Nubira (KLAN) (07/03-)
29-12 321 .
3210005 Air filter
96591485
Notes
Filter Insert
Length [mm] 222
Width [mm] 194
Height [mm] 27
References
96591485

Application info
Matiz (08/98--)

36 Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Daewoo

Engine/Cooling/Clutch

Fuel filter

Notes

Height [mm] 118

Diameter [mm] 61.5
Aluminium

References

2240105040

Application info

Korando (01/99--)

Fuel filter

Notes

Height [mm] 160

Diameter [mm] 60
Aluminium

References

25121074 96281411

Application info

Lanos (05/97--)

Leganza (06/97-04/04)

Matiz (08/98--)

Fuel filter

Notes

Height [mm] 163

Diameter [mm] 55
Steel

References

25121074 96281411

1197 Wulf Gaertner Autoparts AG - www.meyle.com

36-14 323 0005

2240105040

100 201 0000

25121074

Nubira (KLAJ) (04/97--)
Rezzo (09/00--)
Tico (05/89-12/00)

100 201 0013

25121074

37



Daewoo |M I
Engine/Cooling/Clutch Products

100 201 0013

Fuel filter
25121074
Application info
Lanos (05/97--) Nubira (KLAJ) (04/97--)
Leganza (06/97-04/04) Rezzo (09/00--)
Matiz (08/98--) Tico (05/89-12/00)
014 009 0061
Fuel filter
6010900352
Notes
Screw-on Filter
Port Thread M12x1,5
Height [mm] 98
Diameter [mm] 86
Steel
References
6010900352
Application info
5 Korando (01/99--) Musso (07/98--)
29-14 323 0003 Fuel filter
96130396
Notes
Screw-on Filter
Port Thread M16x1,5
Height [mm] 107
Diameter [mm] 55
Metal
References
25055129 96130396
Application info
Espero (10/91-09/99) Nexia (02/95-03/01)

Matiz (08/98--)

38 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

Engine/Cooling/Clutch

29-14 323 0001

Fuel filter
96335719
Notes
Height [mm] 163.5
Height 1 [mm)] 78.9
Diameter [mm] 60
Diameter 1 [mm] 55
Metal
References
96335719 96537170
96503420
Application info
Espero (10/91-09/99) Leganza (06/97-04/04)
Evanda / Magnus (07/99--) Matiz (08/98--)
Kalos (09/02--) Nubira (KLAJ) (04/97--)
Lacetti (04/97--) Nubira (KLAN) (07/03--)
Lanos (05/97--) Rezzo (09/00--)
. 014018 0002
Oil filter
1621843025 5
Notes
Filter Insert
Height [mm] 160
Outer Diameter [mm] 62
Inner Diameter [mm] 234
with seal
References
1621843025
Application info
Korando (01/99--) Musso (07/98--)
Oil filter 714 322 0005
16510A73013
Notes
Screw-on Filter
Thread Size 3/4"-16 UNF
Height [mm] 74
Diameter [mm] 82
References
16510A73013

1197 Wulf Gaertner Autoparts AG - www.meyle.com 39



Daewoo IM I
Engine/Cooling/Clutch Products

714 322 0005 Oil filter

16510A73013

Application info
Kalos (09/02--) Tico (05/89-12/00)
Matiz (08/98--)

014018 0003 Oil filter
93156614
Notes
Filter Insert
Height [mm] 169
Outer Diameter [mm] 92
Inner Diameter [mm] 114
with gaskets/seals
References
93156614
Application info
5 Korando (01/99--) Musso (07/98--)
614 065 0004 .
Oil filter
94797406
Notes
Screw-on Filter
Thread Size M18x1,5
Height [mm] 79
Diameter [mm] 76
References
93745067 96458873
94797406 EC94797406
Application info
Espero (10/91-09/99) Leganza (06/97-04/04)
Evanda / Magnus (07/99--) Nexia (02/95-03/01)
Kalos (09/02--) Nubira (KLAJ) (04/97--)
Lacetti (04/97--) Nubira (KLAN) (07/03--)
Lanos (05/97--) Rezzo (09/00--)

40 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

Engine/Cooling/Clutch

33-14 016 0000

Oil filter
96565412
Notes
Screw-on Filter
Thread Size 3/4"-16 UNF
Height [mm] 65
Diameter [mm] 66
References
96565412
Application info
Kalos (09/02--) Tico (05/89-12/00)
Matiz (08/98--)
. . 614 125 0002
Oil pressure switch
p 90569684
Notes
Number of Poles 1
Thread Size M14x 1,5 5
Spanner Size 24
Pressure from [bar] 0.3
Pressure to [bar] 0.55
Hydraulic
Opener
Black
References
90335039 90507539
90336039 90569684
Application info
Lanos (05/97--) Leganza (06/97-04/04)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 41



Daewoo
Steering

29-16 031 0002
520808

Application info

Evanda / Magnus (07/99--)
Lacetti (04/97--)

29-16 031 0001
520838

Application info

Lacetti (04/97--)
Nubira (KLAJ) (04/97--)

29-16 031 0004
93740621

B L

Application info
Rezzo (09/00--)

42

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
520808

Leganza (06/97-04/04)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
520672

Nubira (KLAN) (07/03--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
521564

MeEeYLE

Prroducts

Front Axle Left
Front Axle Right
358

M16x1,5
M14x1,5

93740701

Front Axle Left
Front Axle Right
343

M16x1,5
M14x1,5

520838

Front Axle Left
Front Axle Right
240

M16x1,5
M14x1,5

93740621

Wulf Gaertner Autoparts AG - www.meyle.com 1197



% IM EZL—'—:&%@ Daewoo

Steering

Axial rod
93741074

Notes

Front Axle Left

Front Axle Right
Length [mm] 252
Thread Measurement 1 M16x1,5
Thread Measurement 2 M12x1,5 _’
References
521255 93741092
93741074

Application info

Matiz (08/98--)
. 33-16 030 0002
Axial rod
96052292
Notes
Front Axle Left
Front Axle Right
Length [mm] 272
Thread Measurement 1 M14x1,5
Thread Measurement 2 M12x1,25
References
96052292
Application info
Tico (05/89-12/00)
. 29-16 031 0006
Axial rod
96535300
Notes
Front Axle Left
Front Axle Right
Length [mm] 200
Thread Measurement 1 M16x1,5
Thread Measurement 2 M12x1,5 m’%ﬁ
References -
96535300

Application info
Kalos (09/02--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 43



Daewoo |M EYLE®

Prroducts

Steering

44

614 032 0001

26020639

Application info

Espero (10/91-09/99)
Lanos (05/97--)

616 020 5377

07848281

Application info

Espero (10/91-09/99)
Lanos (05/97--)

616 020 5380

26001806

Bolt, wheel alignment

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
07846696

Nexia (02/95-03/01)

Tie rod end

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

07846495
07848281

Counterpart

616 020 5380

Nexia (02/95-03/01)

Tie rod end

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
26001806

Counterpart
616 020 5377

Front Axle Left
Front Axle Right
Centre

98

M16x1,5
M16x1,5

26020639

Front Axle Left
66

M12x1,5
M16x1,5

26001807

Front Axle Right

65

M12x1,5

M16x1,5

with left-hand thread

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

Steering

616 020 5380

26001806

Tierod end

Application info
Espero (10/91-09/99) Nexia (02/95-03/01)
Lanos (05/97--)

38-16 020 0000
46660-05501

Tierod end

Notes ]
Front Axle Left @
Front Axle Right
Outer

Length [mm] 84

Thread Measurement 1 M12x1,5

Thread Measurement 2 M14x1,5

References

46660-05501

Application info

Korando (01/99--) Musso (07/98--)

29-16 020 0006

93740722

Notes 6

Front Axle Left

Tierod end

Length [mm] 190

Thread Measurement 1 M12x1,25 \;..i.g
Thread Measurement 2 M12x1,5 "
References

93740722

Counterpart

29-16 020 0007

Application info
Kalos (09/02--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 45



Daewoo
Steering

29-16 020 0007

93740723

Application info
Kalos (09/02--)

29-16 020 0000

93741077

Application info
Matiz (08/98-)

P

t

33-16 020 0006

96052290

Application info
Tico (05/89-12/00)

46

=)

Tie rod end

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

93740723

Counterpart
29-16 020 0006

Tie rod end

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

4881078BX0
48810-A78B00
48810A78B00000

Tico (05/89-12/00)

Tie rod end

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
96052290

M

Front Axle Right
190

M12x1,25
M12x1,5

Front Axle Left
Front Axle Right
72

M12x1,25
M12x1,5

521136
93741077

Front Axle Left
Front Axle Right
71

M12x1,25
M12x1,25

EYLE’

Prroducts

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

Steering

Tie rod end 29-16 020 0008

96407485

Notes

Front Axle Left
Length [mm] 143
Thread Measurement 1 M12x1,5
Thread Measurement 2 M14x1,5
References
96407485
Counterpart

29-16 020 0009

Application info
Lacetti (04/97--) Nubira (KLAN) (07/03-)

Tie rod end 29-16 020 0009

96407486
Notes
Front Axle Right r
Length [mm] 143
Thread Measurement 1 M12x1,5
Thread Measurement 2 M14x1,5
References
96407486
Counterpart 6
29-16 020 0008
Application info
Lacetti (04/97--) Nubira (KLAN) (07/03--)
. 29-16 020 0001
Tie rod end
96446586
Notes
Front Axle Left
Front Axle Right
Length [mm] 75
Thread Measurement 1 M12x1,5
Thread Measurement 2 M14x1,5
References
520262 96205809
96129753 96446586
Application info
Evanda / Magnus (07/99--) Leganza (06/97-04/04)
Lacetti (04/97--) Nubira (KLAJ) (04/97--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 47



Daewoo

Suspension

M

EYLE’

Prroducts

38-16 010 0001

44430-03000

Application info
Korando (01/99--)

38-16 010 0000

44505-05001
= -

Application info
Korando (01/99--)

616010 5375

96216354

Application info

Espero (10/91-09/99)
Lanos (05/97--)

48

Q@@ ;

Ball joint

Notes
Front Axle Left
Front Axle Right
Upper

Thread Size M16x1,5

References

44430-03000

Musso (07/98--)

Ball joint

Notes
Front Axle Left
Front Axle Right
Lower

Thread Size M16x1,5

References

44505-05001

Musso (07/98--)
Ball joint
Notes
Front Axle Left
Front Axle Right
Length [mm] 40
Thread Size M12x1,5
with accessories
References
90342316 96216354

Nexia (02/95-03/01)

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

Suspension

26-16 010 0005

Ball joint
96261108

Notes

Front Axle Left

Front Axle Right

with accessories
References
96261108

Application info
Rezzo (09/00--)

29-16 010 0001

Ball joint
96300648
Notes
Front Axle Left
Front Axle Right
References
96300648
Application info
Lacetti (04/97-) Nubira (KLAJ) (04/97-)
Ball joint 26-16 010 0001
96445783
Notes
Front Axle Left
Front Axle Right
Lower
References
96328437 96445783

Application info
Evanda / Magnus (07/99--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 49



Daewoo IM EYLE®

Suspension Products

26-16 010 0004

Ball joint
96490218
Notes
Front Axle Left
Front Axle Right
Cone Size [mm] 18
with accessories
References
96490218
Application info
Lacetti (04/97--) Nubira (KLAN) (07/03--)
26-16 010 0000 . .
Ball joint
96535089
Notes
Front Axle Left
Front Axle Right
Thread Measurement 1 M12x1,25
with accessories
References
96535089

LY

Application info
Kalos (09/02--)

29-16 050 0002
ntrol arm
96268439 CO trola
Notes
Front Axle Left
Control Arm
with ball joint
with rubber mounting
Sheet Steel
References
96268439 96305974
Counterpart

29-16 050 0001

Application info
Lacetti (04/97--) Nubira (KLAJ) (04/97--)

50 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

MeEeYLE

Products Suspension

Control arm 29-16 050 0001

96305975
Notes
Front Axle Right
Control Arm
with ball joint
with rubber mounting
Sheet Steel
References
96268438 96305975
96268440
Counterpart
29-16 050 0002
Application info
Lacetti (04/97--) Nubira (KLAJ) (04/97--)
29-16 0500012
Control arm
96316765
Notes
Front Axle Left
Front Axle Right
Control Arm
with ball joint
with rubber mounting
Sheet Steel
References
96316765 96611265
Application info
Matiz (08/98--) Tico (05/89-12/00) 7

1197 Wulf Gaertner Autoparts AG - www.meyle.com 51



Daewoo IM EYLE®

Prroducts

Suspension

52

29-16 050 0010

96415063

Application info
Lacetti (04/97--)

29-16 050 0011

96415064

Application info
Lacetti (04/97--)

Control arm

Notes

Cone Size [mm]

References
96391850

Parts list

26-16 010 0004
29-14 610 0000
29-14 610 0001

Counterpart
29-16 050 0011

Nubira (KLAN) (07/03--)

Control arm

Notes

Cone Size [mm]

References
96391851

Parts list

26-16 010 0004
29-14610 0000
29-14 6100001

Counterpart
29-16 050 0010

Nubira (KLAN) (07/03--)

Wulf Gaertner Autoparts AG - www.meyle.com 1197

Front Axle Left
Control Arm

18

with ball joint

with rubber mounting
Sheet Steel

96415063

Ball joint
Control arm bushing
Control arm bushing

Front Axle Right
Control Arm

18

with ball joint

with rubber mounting
Sheet Steel

96415064

Ball joint
Control arm bushing
Control arm bushing



MeEeYLE

Products

Daewoo

Suspension

Control arm

Notes

References

90182694
96185969
96185971

Parts list

6160105375
6140350012
614 0350013

Counterpart
29-16 050 0004

Application info

Espero (10/91-09/99)
Lanos (05/97--)

Control arm

Notes

References

90182695
90375506
96185972

Parts list

616 0105375
6140350012
614 0350013

Counterpart
29-16 050 0003

Application info

Espero (10/91-09/99)
Lanos (05/97--)

Front Axle Left
Control Arm

with ball joint

with rubber mounting
Sheet Steel

96218397
96445371

Ball joint
Control arm bushing
Control arm bushing

Front Axle Right
Control Arm

with ball joint

with rubber mounting
Sheet Steel

96218398
96445372

Ball joint
Control arm bushing
Control arm bushing

1197 Wulf Gaertner Autoparts AG - www.meyle.com

29-16 050 0003
96445371

Nexia (02/95-03/01)

29-16 050 0004
96445372

Nexia (02/95-03/01)

53



Daewoo |M EYLE®

Suspension Products

29-16 050 0008 Control arm

96815893

Notes
Front Axle Left
Front Axle Right
Control Arm
with ball joint
with rubber mounting
Sheet Steel

References

96815893 96815894

Parts list

26-16 010 0000 Ball joint

Application info
Kalos (09/02--)

614 0350012 .
ntrol arm hin
90235040 CO trola bus g
Notes
Front Axle Left
Front Axle Right
Rear
Height [mm] 54
Outer Diameter [mm)] 56
Inner Diameter [mm] 21
References
90235040

Application info

7 Espero (10/91-09/99) Nexia (02/95-03/01)
Lanos (05/97--)

29-14610 0006 Control arm bushing

96328434

Notes
Front Axle Left
Front Axle Right
Lower
Front

Height [mm] 58

Outer Diameter [mm] 40

Inner Diameter [mm] 14

References

96328434

54 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

Suspension

Control arm bushing 29-14 610 0006

96328434
Application info
Evanda / Magnus (07/99--)
. 614 0350013
Control arm bushing
96335966
Notes
Front Axle Left
Front Axle Right
Front
Height [mm] 59
Outer Diameter [mm] 39
Inner Diameter [mm] 14
References
96335966
Application info
Espero (10/91-09/99) Nexia (02/95-03/01)

Lanos (05/97--)

Control arm bushing 29-14 610 0001

96378346

Notes

Front Axle Left

Front Axle Right

Lower

Front
Height [mm] 60
QOuter Diameter [mm] 39
Inner Diameter [mm] 12 7
References
96378346
Application info
Lacetti (04/97--) Nubira (KLAN) (07/03--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 55



Daewoo IM EYLE®

Suspension Products

6146100009 .
Control arm bushing
96380613
Notes
Front Axle Left
Front Axle Right
Height [mm] 52
Outer Diameter [mm)] 28
Inner Diameter [mm] 10
References
96380613

Application info
Matiz (08/98--)

29-14 610 0000 Control arm bushing

96391856
Notes
Front Axle Left
Front Axle Right
Lower
Rear
Height [mm] 54
Outer Diameter [mm] 60
Inner Diameter [mm] 12
References
96391856
Application info
Lacetti (04/97--) Nubira (KLAN) (07/03--)

29-14 610 0002 .
Control arm bushing
96431044
Notes
Front Axle Left
Front Axle Right
Lower
Rear
Height [mm] 54
Outer Diameter [mm] 72
Inner Diameter [mm] 12
References
96431044

Application info
Rezzo (09/00--)

56 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

Suspension

Control arm bushing 29-14610 0003

96653381
Notes
Front Axle Left
Front Axle Right
Lower
Rear
Height [mm] 46
QOuter Diameter [mm] 60
Inner Diameter [mm] 12
References
96535088 96653381

Application info
Kalos (09/02--)

Mount, control arm 29-14 610 0004

96388640
Notes
Front Axle Left
Lower
Rear
Inner Diameter [mm] 18
References
96388640 96970074
Counterpart
29-14 610 0005
Application info
Evanda / Magnus (07/99--)
29-14 610 0005
Mount, control arm
’ 96388641
Notes
Front Axle Right
Lower
Rear
Inner Diameter [mm] 18
References
96388641 96970075
Counterpart

29-14610 0004

Application info
Espero (10/91-09/99)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 57



Daewoo |M EYLE®

Prroducts

Suspension

616 060 0011 Repair kit, stabilizer link
1603150
Notes
Front Axle Left
Front Axle Right
Coupling Rod
e _ - =
References
o = 1603150

Application info

Espero (10/91-09/99) Nexia (02/95-03/01)
Lanos (05/97--)

38-16 060 0000

Stabilizer link
44750-05000
Notes
Front Axle Left
Front Axle Right
Length [mm] 185
Thread Measurement 1 M10x1,25
J Thread Measurement 2 M10x1,25
Coupling Rod
&3
& References
44750-05000 44750-05002
44750-05001
Application info
7 Korando (01/99--) Musso (07/98--)
29-16 060 0003 o .
Stabilizer link
96225858
Notes
Length [mm] 80
Thread Measurement 1 M10x1,25
Thread Measurement 2 M10x1,25
Coupling Rod
References
96225858
Counterpart

29-16 060 0004

Application info
Evanda / Magnus (07/99--) Leganza (06/97-04/04)

58 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

Suspension

29-16 060 0004

Stabilizer link
96225859
Notes
Length [mm] 80
Thread Measurement 1 M10x1,25
Thread Measurement 2 M10x1,25
Coupling Rod

References
96225859

Counterpart
29-16 060 0003

Application info

Evanda / Magnus (07/99--)

Stabilizer link (HO

Notes
Reinforced Version

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
96300627

Application info
Lacetti (04/97--)

Stabilizer link @

Notes
Reinforced Version

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
96275798

Application info

Kalos (09/02--)
Lacetti (04/97--)

Front Axle Left
Front Axle Right
265

M10x1,5
M10x1,5
Coupling Rod

Front Axle Left
Front Axle Right
261

M10x1,5
M10x1,5
Coupling Rod

96391875

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Leganza (06/97-04/04)

35-16 060 0015/HD

Nubira (KLAJ) (04/97--)

96300627

29-16 060 0009/HD

96391875

Nubira (KLAJ) (04/97--)
Rezzo (09/00--)

59



Daewoo

Suspension

29-16 060 0005/HD

96391876

Application info
Lacetti (04/97--)

29-16 060 0008/HD

96403099

Application info
Lacetti (04/97--)

29-16 060 0007/HD

96403100

60

Stabilizer link @

Notes
Reinforced Version

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

96300213
96300222

Nubira (KLAJ) (04/97--)

Stabilizer link @

Notes
Reinforced Version
Length [mm]

Thread Measurement 1
Thread Measurement 2

References
96403099

Counterpart
29-16 060 0007/HD

Nubira (KLAN) (07/03--)

Stabilizer link (HO

Notes
Reinforced Version
Length [mm]

Thread Measurement 1
Thread Measurement 2

References
96403100

Counterpart
29-16 060 0008/HD

M

Rear Axle Left
Rear Axle Right
246

M10x1,5
M10x1,5
Coupling Rod

96391876

Front Axle Left
270

M10x1,5
M10x1,5
Coupling Rod

Front Axle Right
270

M10x1,5
M10x1,5
Coupling Rod

EYLE’

Prroducts

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo

Suspension

MeEeYLE

Products

Stabilizer link (HD) 29-16 060 0007/HD

96403100

Application info
Lacetti (04/97--) Nubira (KLAN) (07/03-)

616 060 5389

Stabilizer link
96440020

Notes S,

Length [mm] 195

Thread Measurement 1 M10x1,5

Thread Measurement 2 M10x1,5
Coupling Rod

References
96440020

Application info
Evanda / Magnus (07/99--)

o . 29-16 060 0006
Stabilizer link
96561754
Notes
Rear Axle Left
Rear Axle Right
Length [mm] 217
Thread Measurement 1 M10x1,25
Thread Measurement 2 M10x1,25
Coupling Rod
References - 7
96561754
Application info
Lacetti (04/97--) Nubira (KLAN) (07/03--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 61



Daewoo % |M :»E%ZZL—'—:E@

Suspension

100 740 0002 Dust cover kit, shock absorber
Notes

Rear Axle
Round
Kit

- - Parts list

- 1005120014 Rubber stop, suspension
_ 100 513 0007 Dust cover/boot, strut
- .
L E

Application info
Kalos (09/02--)

32-14 640 0001 Dust cover kit, shock absorber

Notes
Front Axle
. Kit
=

614 640 0000

Application info
Matiz (08/98-)

7

Dust cover kit, shock absorber

Notes
Front Axle
Kit

Application info

Espero (10/91-09/99) Nexia (02/95-03/01)
Lanos (05/97--)

62 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Daewoo
Suspension

MeEeYLE

Products

Shock absorber 626 614 0005
96208556
Notes
Front Axle
Twin-Tube
Qil Pressure
Suspension Strut Insert
References
96208556

.©

Application info

Espero (10/91-09/99) Nexia (02/95-03/01)
Lanos (05/97--)

626 615 0001
Shock absorber
e abs 96226990
Notes
Rear Axle
Twin-Tube
Oil Pressure
Bottom eye
Top pin
References
96208557 96226990
96208558
X-X-Y4 I
Application info
Espero (10/91-09/99) Nexia (02/95-03/01)
Lanos (05/97--) 7
29-26 725 0000
Shock absorber
96316781
Notes
Rear Axle
Twin-Tube
Gas Pressure
Top eye
Bottom eye
References
96316781 96342033

Application info
Matiz (08/98--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 63



Daewoo IM EYLE®

Suspension Products

29-26 623 0001
Shock absorber
96318056
Notes
Front Axle Left
Twin-Tube
Gas Pressure
Suspension Strut
References
96316745 96318056
Counterpart

29-26 623 0000

Application info
Matiz (08/98--)

29-26 623 0000
Shock absorber
96318057
Notes
Front Axle Right
Twin-Tube
Gas Pressure
Suspension Strut
References
96316746 96610019
96318057 96610020
96336487 96610021
96336489 96610022
Counterpart

29-26 623 0001

7 Application info
Matiz (08/98--)

29-26 623 0004
Shock absorber
96407819
Notes
Front Axle Left
Twin-Tube
Gas Pressure
Suspension Strut
References
96407819
Counterpart
29-26 623 0005

64 Wulf Gaertner Autoparts AG - www.meyle.com 1197



1197 Wulf Gaertner Autoparts AG - www.meyle.com

MeEeYLE

Products

Shock absorber

Application info
Lacetti (04/97--)

Shock absorber

Notes

References
96407820

Counterpart
29-26 623 0004

Application info
Lacetti (04/97--)

Shock absorber

Notes

References

96408735
96494605

Application info
Kalos (09/02--)

Front Axle Right
Twin-Tube

Gas Pressure
Suspension Strut

Rear Axle
Twin-Tube
Gas Pressure
Bottom eye
Top pin

96535158

Nubira (KLAN) (07/03--)

Daewoo

Suspension

29-26 623 0004
96407819

29-26 623 0005

96407820

Nubira (KLAN) (07/03--)

29-26 725 0001

96494605

65



Daewoo |M EYLE®

Prroducts

Suspension

29-26 623 0002
Shock absorber
96586885
Notes
Front Axle Left
Twin-Tube
Gas Pressure
Suspension Strut
References
96586885 96653231
96586887
Counterpart

29-26 623 0003

Application info

Kalos (09/02--)
29-26 623 0003
Shock rber
96586886 o abSO
Notes
Front Axle Right
Twin-Tube
Gas Pressure
Suspension Strut
References
96586886 96653232
96586888
Counterpart

29-26 623 0002

Application info
7 Kelos(09/02-)

29-26 725 0002 Shock absorber

Notes
Rear Axle
Twin-Tube
Gas Pressure
Top eye
Bottom eye

References

95299742 96424027

Application info
Matiz (08/98--)

66 Wulf Gaertner Autoparts AG - www.meyle.com 1197



% |M —_— Daewoo
Products SuspenSion

29-14 650 0002

Wheel bearing kit
94535259
Notes
Front Axle left and right
Height [mm] 39
Outer Diameter [mm] 74
Inner Diameter [mm] 39

with add-on material é
<

References @
94535259 94535982 IV)

\ e
Application info
Lacetti (04/97--) Nubira (KLAN) (07/03--)
Leganza (06/97-04/04) Rezzo (09/00--)
. . 29-14 650 0001
Wheel bearing kit
96285525
Notes
Front Axle left and right
Height [mm] 17
Outer Diameter [mm] 60
Inner Diameter [mm] 35
with add-on material
References
96285525

Application info

Matiz (08/98--) 7
. . 29-14 750 0001
Wheel bearing kit
96316634*

Notes

Rear Axle left and right
Thread Size 16
Height 1 [mm] 16
Outer Diameter 1 [mm] 52
Outer Diameter 2 [mm] 47
Inner Diameter 1 [mm] 25
Inner Diameter 2 [mm] 20

with accessories
References
96316634* 96316635*%

1197 Wulf Gaertner Autoparts AG - www.meyle.com 67



Daewoo

Suspension

MeEeYLE

Prroducts

29-14 750 0001

96316634*

Application info
Matiz (08/98--)

614 752 0004

BAR-0045A

Application info
Espero (10/91-09/99)

29-14752 0001

Application info

Evanda / Magnus (07/99--)
Lacetti (04/97--)

68

Wheel bearing kit

Wheel hub

Notes

Rim Hole Number

Bolt Hole Circle @ [mm]
Outer Diameter [mm]
Inner Diameter [mm]

References
BAR-0045A

Lanos (05/97--)

Wheel hub

Notes

Rim Hole Number
Bolt Hole Circle @ [mm]
Outer Diameter [mm]

References
96639607

Nubira (KLAN) (07/03--)

Rear Axle left and right

with integrated wheel bearing
with fastening material
Four-point mounting

4

100

136

56

for vehicles with ABS

with add-on material

Rear Axle left and right

with integrated wheel bearing
with integrated ABS sensor
with wheel studs

4

114.3

139

for vehicles with ABS

with add-on material

Wulf Gaertner Autoparts AG - www.meyle.com 1197



M

EYLE’

Products

MEYLE no.— Ref. no.

Index

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Daewoo Daewoo
012 094 0021 6020940204 33 100 740 0002 = 62
014 009 0061 6010900352 38 26-16 010 0000 96535089 50
014018 0002 1621843025 39 26-16 010 0001 96328437 49
014018 0003 93156614 40 96445783
014 020 1041 0011590001 25 26-16 010 0004 96490218 50
014 158 0000 1587503 25 26-16 010 0005 96261108 49
014 698 0006 11010154072 16 29-12319 0000 96449577 7
014 698 0006/S 11010154072 16 96539649
014 862 0001 1587503 28 96962173
014 899 0000 0021539528 27 EC96539649
014 899 0013 0031537328 25 29-12319 0001 96207420 6
0031537528 96207422
0252054716 11046948322 12 96207423
11046948372 29-12319 0003 96190645 5
025 205 4716/PD 11046948322 12 EC96190645
11046948372 29-12 319 0005 96425700 6
0252186217 11046152 15 EC96425700
11046952012 29-12 319 0006 96555003 7
96281939 29-12 319 0007 96554378 7
025 232 3417/W 96245178 13 EC96554378
96253367 29-12 319 0009/S 93740495 5
96253382 96331028
96391891 EC96331028
96405129 29-123190010 96296618 6
96446742 96327366
96495227 EC96327366
S4510019 29-12321 0001 96536696 36
0252323714 96245179 13 29-12 321 0002 96553450 36
96253368 29-12321 0003 96182220 34
$4521001 29-12 321 0004 96314494 35
0252324117 96316582 14 29-12321 0005 96591485 36
0252324117/PD 96316582 14 29-12321 0007 96351225 35
0252397417 96534653 15 29-12 3210008 96181263 34
0252407114 96405131 14 29-12 321 0009 1378078B 33
029 400 1600 = 2 1378078B00
029 450 1800 - 3 13780A78B00000
029 475 1900 = 3 29-12321 0010 96263897 34
029 500 2000 - 3 29-12 3210011 96328718 35
0295302100 = 4 29-13 1820001 96182871 32
029 550 2200 = 4 96352650
029 600 2400 = 5 96872702
100 201 0000 25121074 37 96930074
96281411 29-13 220 0000 17400-50812 32
100201 0013 25121074 37 17400-60D01
96281411 17400-61810
100 698 0008 11817100081 15 17400-70B00

1197 Wulf Gaertner Autoparts AG - www.meyle.com

69



Index

MEYLE no.— Ref. no.

M

EYLE’

Prroducts

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Daewoo Daewoo
17400A-60D01 96394977
17400A-60D02 29-14 533 0007 48330-05000 18
96518977 29-14 533 0008 96496764 20
96563958 29-14 533 0026/K 93740251 18
96666219 93740252
96666221 $4520007
29-13 350 0001 96350799 32 $4520008
96352648 29-14 610 0000 96391856 56
96872704 29-14 6100001 96378346 55
29-13 3510001 94013802 31 29-14 610 0002 96431044 56
96351284 29-14 6100003 96535088 57
96351971 96653381
96872700 29-14 610 0004 96388640 57
29-14 323 0001 96335719 39 96970074
96503420 29-14 610 0005 96388641 57
96537170 96970075
29-14 323 0003 25055129 38 29-14 610 0006 96328434 54
96130396 29-14 650 0001 96285525 67
29-14 498 0000 510736 21 29-14 650 0002 94535259 67
96243573 94535982
96257802 29-14 750 0001 96316634* 67
29-14 498 0001 26013813 21 96316635*
510734 29-14 752 0001 96639607 68
513315 29-15521 0000 96286933 9
29-14 498 0003 96273571 23 96312559
96564144 29-15521 0001 96284392 9
29-14 498 0004 96348782 23 96320531
96391555 29-15521 0004 96218420 9
29-14 498 0005 96348790 23 96238673
96348791 29-15 521 0005 96549782 11
96391551 29-15521 0006 90121445 12
29-14 498 0006 96183138 21 96574633
96183139 29-15 521 0007 96264591 10
96225969 96328338
96225970 29-15523 0002 96549630 1
29-14 498 0007 96273760 22 29-15 523 0003 96389659 10
29-14 498 0008 96257804 22 29-15 523 0004 96386901 17
96474834 96471276
29-14 525 0001 96534545 20 96471279
29-14 533 0001 93740251 18 96471783
93740252 96473233
$4520007 29-15 523 0005 96316636 17
$4520008 29-16 0100001 96300648 49
29-14 533 0002 96268686 19 29-16 020 0000 4881078BX0 46
29-14 533 0004 96319066 19 48810-A78B00
96349066 48810A78B00000

70

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Index

MeEeYLE
Produsts MEYLE no. — Ref. no.
MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Daewoo Daewoo
521136 96300222
93741077 96391876
29-16 020 0001 520262 47 29-16 060 0006 96561754 61
96129753 29-16 060 0007/HD 96403100 60
96205809 29-16 060 0008/HD 96403099 60
96446586 29-16 060 0009/HD 96275798 59
29-16 020 0006 93740722 45 96391875
29-16 020 0007 93740723 46 29-26 623 0000 96316746 64
29-16 020 0008 96407485 47 96318057
29-16 020 0009 96407486 47 96336487
29-16 031 0001 520672 42 96336489
520838 96610019
29-16 031 0002 520808 42 96610020
93740701 96610021
29-16 031 0004 521564 42 96610022
93740621 29-26 623 0001 96316745 64
29-16 031 0005 521255 43 96318056
93741074 29-26 623 0002 96586885 66
93741092 96586887
29-16 031 0006 96535300 43 96653231
29-16 050 0001 96268438 51 29-26 623 0003 96586886 66
96268440 96586888
96305975 96653232
29-16 050 0002 96268439 50 29-26 623 0004 96407819 64
96305974 29-26 623 0005 96407820 65
29-16 050 0003 90182694 53 29-26 725 0000 96316781 63
96185969 96342033
96185971 29-26 725 0001 96408735 65
96218397 96494605
96445371 96535158
29-16 050 0004 90182695 53 29-26 725 0002 95299742 66
90375506 96424027
96185972 29-28 228 0000 90411948 29
96218398 92062728
96445372 29-40910 0001 96298318 2
29-16 050 0008 96815893 54 96557530
96815894 29-40910 0003 96314606 1 E
29-16 0500010 96391850 52 96507773
96415063 96518910
29-16 0500011 96391851 52 96557539
96415064 96563503
29-16 050 0012 96316765 51 96598008
96611265 29-40 910 0005 96310381 1
29-16 060 0003 96225858 58 96394240
29-16 060 0004 96225859 59 96940087
29-16 060 0005/HD 96300213 60 29-40 910 0006 96540939 1

1197 Wulf Gaertner Autoparts AG - www.meyle.com 71



Index

MEYLE no.— Ref. no.

M

EYLE’

Prroducts

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Daewoo Daewoo
29-40 910 0007 96548931 2 90507539
32-14 640 0001 - 62 90569684
33-14 016 0000 96565412 41 614 610 0009 96380613 56
33-16 020 0006 96052290 46 614 640 0000 = 62
33-16 030 0002 96052292 43 614 752 0004 BAR-0045A 68
35-16 060 0015/HD 96300627 59 614 885 0008 88921374 26
36-14 323 0005 2240105040 37 96350585
38-15523 0001 48401-05101 8 614899 0017 16137039 27
48401-05110 614 899 0020 16212460 28
38-16 010 0000 44505-05001 48 614 950 0000 96335925 27
38-16 010 0001 44430-03000 48 6155216001 96179110 8
38-16 020 0000 46660-05501 45 615523 6002 96175281 16
38-16 060 0000 44750-05000 58 6160105375 90342316 48
44750-05001 96216354
44750-05002 616 020 5377 07846495 44
514 899 0002 96183228 26 07848281
96417820 26001807
6132200011 90443549 31 616 020 5380 26001806 44
90444311 616 060 0011 1603150 58
9192370 616 060 5389 96440020 61
613 600 0568 90220568 30 626 614 0005 96208556 63
90272361 626 615 0001 96208557 63
613 600 4084 90106656 30 96208558
90273924 96226990
90284802 714322 0005 16510A73013 39
613 600 4098 96351969 31
614 009 0002 90411782 29
614 020 0000 24412292 29
614032 0001 07846696 44
26020639
6140350012 90235040 54
6140350013 96335966 55
614 042 1007 96430417 19
NP1441
NP1464
$4520003
S$4520005
54520006
614 055 0004 90235422 20
614 065 0004 93745067 40
94797406
96458873
EC94797406
614123 0001 96192077 28
614 125 0002 90335039 41
90336039
72 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Index
Ref. no.— MEYLE no.

MeEeYLE

Products

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Daewoo Daewoo
0011590001 014 020 1041 25 46660-05501 38-16 020 0000 45
0021539528 014 899 0000 27 48330-05000 29-14 533 0007 18
0031537328 014899 0013 25 48401-05101 38-15523 0001 8
0031537528 014899 0013 25 48401-05110 38-15523 0001 8
07846495 616 020 5377 44 4881078BX0 29-16 020 0000 46
07846696 614032 0001 44 48810-A78B00 29-16 020 0000 46
07848281 616 020 5377 44 48810A78B00000 29-16 020 0000 46
11010154072 014 698 0006 16 510734 29-14 498 0001 21
014 698 0006/S 510736 29-14 498 0000 21
11046152 0252186217 15 513315 29-14 498 0001 21
11046948322 025205 4716 12 520262 29-16 020 0001 47
025 205 4716/PD 520672 29-16 031 0001 42
11046948372 025 205 4716 12 520808 29-16 031 0002 42
025 205 4716/PD 520838 29-16 031 0001 42
11046952012 0252186217 15 521136 29-16 020 0000 46
11817100081 100 698 0008 15 521255 29-16 031 0005 43
1378078B 29-12 321 0009 33 521564 29-16 031 0004 42
1378078B00 29-12 321 0009 33 6010900352 014 009 0061 38
13780A78B00000 29-12 321 0009 33 6020940204 012 094 0021 33
1587503 014 158 0000 25,28 88921374 614 885 0008 26
014 862 0001 90106656 613 600 4084 30
1603150 616 060 0011 58 90121445 29-15 521 0006 12
16137039 614899 0017 27 90182694 29-16 050 0003 53
16212460 614 899 0020 28 90182695 29-16 050 0004 53
1621843025 014018 0002 39 90220568 613 600 0568 30
16510A73013 714 322 0005 39 90235040 6140350012 54
17400-50812 29-13 220 0000 32 90235422 614 055 0004 20
17400-60D01 29-13 2200000 32 90272361 613 600 0568 30
17400-61810 29-13 220 0000 32 90273924 613 600 4084 30
17400-70B00 29-13 2200000 32 90284802 613 600 4084 30
17400A-60D01 29-13 220 0000 32 90335039 614 125 0002 41
17400A-60D02 29-13 220 0000 32 90336039 614 125 0002 41
2240105040 36-14 323 0005 37 90342316 6160105375 48
24412292 614 020 0000 29 90375506 29-16 050 0004 53
25055129 29-14 323 0003 38 90411782 614 009 0002 29
25121074 100201 0000 37 90411948 29-28 228 0000 29
100201 0013 90443549 6132200011 31
26001806 616 020 5380 44 90444311 6132200011 31
26001807 616 0205377 44 90507539 614 125 0002 41
26013813 29-14 498 0001 21 90569684 614 125 0002 41
26020639 614 032 0001 44 9192370 6132200011 31
44430-03000 38-16 0100001 48 92062728 29-28 228 0000 29
44505-05001 38-16 010 0000 48 93156614 014018 0003 40
44750-05000 38-16 060 0000 58 93740251 29-14 533 0001 18
44750-05001 38-16 060 0000 58 29-14 533 0026/K
44750-05002 38-16 060 0000 58 93740252 29-14 533 0001 18

1197 Wulf Gaertner Autoparts AG - www.meyle.com

73



Index

MeYLE’
Ref. no. — MEYLE no. Prednets
Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Daewoo Daewoo
29-14 533 0026/K 96225970 29-14 498 0006 21
93740495 29-12 319 0009/S 5 96226990 626 615 0001 63
93740621 29-16 031 0004 42 96238673 29-15521 0004 9
93740701 29-16 031 0002 42 96243573 29-14 498 0000 21
93740722 29-16 020 0006 45 96245178 025232 3417/W 13
93740723 29-16 020 0007 46 96245179 0252323714 13
93741074 29-16 031 0005 43 96253367 025232 3417/W 13
93741077 29-16 020 0000 46 96253368 0252323714 13
93741092 29-16 031 0005 43 96253382 025232 3417/W 13
93745067 614 065 0004 40 96257802 29-14 498 0000 21
94013802 29-13 3510001 31 96257804 29-14 498 0008 22
94535259 29-14 650 0002 67 96261108 26-16 010 0005 49
94535982 29-14 650 0002 67 96263897 29-12321 0010 34
94797406 614 065 0004 40 96264591 29-15 521 0007 10
95299742 29-26 725 0002 66 96268438 29-16 050 0001 51
96052290 33-16 020 0006 46 96268439 29-16 050 0002 50
96052292 33-16 030 0002 43 96268440 29-16 050 0001 51
96129753 29-16 020 0001 47 96268686 29-14 533 0002 19
96130396 29-14 323 0003 38 96273571 29-14 498 0003 23
96175281 615523 6002 16 96273760 29-14 498 0007 22
96179110 6155216001 8 96275798 29-16 060 0009/HD 59
96181263 29-12 321 0008 34 96281411 100201 0000 37
96182220 29-12 3210003 34 100201 0013
96182871 29-13 182 0001 32 96281939 0252186217 15
96183138 29-14 498 0006 21 96284392 29-15 521 0001 9
96183139 29-14 498 0006 21 96285525 29-14 650 0001 67
96183228 514899 0002 26 96286933 29-15 521 0000 9
96185969 29-16 050 0003 53 96296618 29-123190010 6
96185971 29-16 050 0003 53 96298318 29-40 910 0001 2
96185972 29-16 050 0004 53 96300213 29-16 060 0005/HD 60
96190645 29-12319 0003 5 96300222 29-16 060 0005/HD 60
96192077 614 123 0001 28 96300627 35-16 060 0015/HD 59
96205809 29-16 020 0001 47 96300648 29-16 010 0001 49
96207420 29-12 3190001 6 96305974 29-16 050 0002 50
96207422 29-12319 0001 6 96305975 29-16 050 0001 51
96207423 29-12 3190001 6 96310381 29-40 910 0005 1
96208556 626 614 0005 63 96312559 29-15 521 0000 ©)
96208557 626 615 0001 63 96314494 29-12 321 0004 35
96208558 626 615 0001 63 96314606 29-40910 0003 1
96216354 616010 5375 48 96316582 0252324117 14
96218397 29-16 050 0003 53 0252324117/PD
96218398 29-16 050 0004 53 96316634* 29-14 750 0001 67
96218420 29-15521 0004 9 96316635* 29-14 750 0001 67
96225858 29-16 060 0003 58 96316636 29-15 523 0005 17
96225859 29-16 060 0004 59 96316745 29-26 623 0001 64
96225969 29-14 498 0006 21 96316746 29-26 623 0000 64
74 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Index

MeEeYLE
Produsts Ref. no.— MEYLE no.

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Daewoo Daewoo
96316765 29-16 0500012 51 96403099 29-16 060 0008/HD 60
96316781 29-26 725 0000 63 96403100 29-16 060 0007/HD 60
96318056 29-26 623 0001 64 96405129 025232 3417/W 13
96318057 29-26 623 0000 64 96405131 0252407114 14
96319066 29-14 533 0004 19 96407485 29-16 020 0008 47
96320531 29-15521 0001 9 96407486 29-16 020 0009 47
96327366 29-123190010 6 96407819 29-26 623 0004 64
96328338 29-15521 0007 10 96407820 29-26 623 0005 65
96328434 29-14 610 0006 54 96408735 29-26 725 0001 65
96328437 26-16 010 0001 49 96415063 29-16 0500010 52
96328718 29-12321 0011 35 96415064 29-16 050 0011 52
96331028 29-12 319 0009/S 5 96417820 514 899 0002 26
96335719 29-14 323 0001 39 96424027 29-26 725 0002 66
96335925 614 950 0000 27 96425700 29-12 319 0005 6
96335966 6140350013 55 96430417 614 042 1007 19
96336487 29-26 623 0000 64 96431044 29-14 610 0002 56
96336489 29-26 623 0000 64 96440020 616 060 5389 61
96342033 29-26 725 0000 63 96445371 29-16 050 0003 53
96348782 29-14 498 0004 23 96445372 29-16 050 0004 53
96348790 29-14 498 0005 23 96445783 26-16 010 0001 49
96348791 29-14 498 0005 23 96446586 29-16 020 0001 47
96349066 29-14 533 0004 19 96446742 025232 3417/W 13
96350585 614 885 0008 26 96449577 29-12 319 0000 7
96350799 29-13 350 0001 32 96458873 614 065 0004 40
96351225 29-12 321 0007 35 96471276 29-15 523 0004 17
96351284 29-13 351 0001 31 96471279 29-15 523 0004 17
96351969 613 600 4098 31 96471783 29-15 523 0004 17
96351971 29-13 351 0001 31 96473233 29-15 523 0004 17
96352648 29-13 350 0001 32 96474834 29-14 498 0008 22
96352650 29-13 182 0001 32 96490218 26-16 010 0004 50
96378346 29-14 6100001 55 96494605 29-26 725 0001 65
96380613 614 610 0009 56 96495227 025 232 3417/W 13
96386901 29-15523 0004 17 96496764 29-14 533 0008 20
96388640 29-14 610 0004 57 96503420 29-14 323 0001 39
96388641 29-14 610 0005 57 96507773 29-40910 0003 1
96389659 29-15 523 0003 10 96518910 29-40910 0003 1
96391551 29-14 498 0005 23 96518977 29-13 220 0000 32
96391555 29-14 498 0004 23 96534545 29-14 525 0001 20
96391850 29-16 0500010 52 96534653 0252397417 15
96391851 29-16 050 0011 52 96535088 29-14610 0003 57
96391856 29-14 610 0000 56 96535089 26-16 010 0000 50
96391875 29-16 060 0009/HD 59 96535158 29-26 725 0001 65 E
96391876 29-16 060 0005/HD 60 96535300 29-16 031 0006 43
96391891 025232 3417/W 13 96536696 29-12 321 0001 36
96394240 29-40 910 0005 1 96537170 29-14 323 0001 39
96394977 29-14 533 0004 19 96539649 29-12 319 0000 7

1197 Wulf Gaertner Autoparts AG - www.meyle.com 75



Index

MeYLE’
Ref. no. — MEYLE no. Preduses
Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Daewoo Daewoo
96540939 29-40 910 0006 1 EC96331028 29-12 319 0009/S 5
96548931 29-40910 0007 2 EC96425700 29-12 319 0005 6
96549630 29-15523 0002 11 EC96539649 29-12 319 0000 7
96549782 29-15 521 0005 11 EC96554378 29-12 319 0007 7
96553450 29-12 3210002 36 NP1441 614 042 1007 19
96554378 29-12 319 0007 7 NP1464 614 042 1007 19
96555003 29-12319 0006 7 S$4510019 025232 3417/W 13
96557530 29-40 910 0001 2 $4520003 614 042 1007 19
96557539 29-40910 0003 1 $4520005 614 042 1007 19
96561754 29-16 060 0006 61 54520006 614 042 1007 19
96563503 29-40 910 0003 1 54520007 29-14 533 0001 18
96563958 29-13 220 0000 32 29-14 533 0026/K
96564144 29-14 498 0003 23 54520008 29-14 533 0001 18
96565412 33-14 016 0000 41 29-14 533 0026/K
96574633 29-15521 0006 12 $4521001 0252323714 13
96586885 29-26 623 0002 66
96586886 29-26 623 0003 66
96586887 29-26 623 0002 66
96586888 29-26 623 0003 66
96591485 29-12 321 0005 36
96598008 29-40910 0003 1
96610019 29-26 623 0000 64
96610020 29-26 623 0000 64
96610021 29-26 623 0000 64
96610022 29-26 623 0000 64
96611265 29-16 050 0012 51
96639607 29-14 752 0001 68
96653231 29-26 623 0002 66
96653232 29-26 623 0003 66
96653381 29-14 610 0003 57
96666219 29-13 220 0000 32
96666221 29-13 220 0000 32
96815893 29-16 050 0008 54
96815894 29-16 050 0008 54
96872700 29-13 3510001 31
96872702 29-13 182 0001 32
96872704 29-13 3500001 32
96930074 29-13 182 0001 32
96940087 29-40 910 0005 1
96962173 29-12 319 0000 7
96970074 29-14 610 0004 57
96970075 29-14 610 0005 57
BAR-0045A 614752 0004 68
EC94797406 614 065 0004 40
EC96190645 29-12319 0003 5
EC96327366 29-123190010 6
76 Wulf Gaertner Autoparts AG - www.meyle.com 1197



